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36 g 68 254 318 6,331 2,490 2,198 4,728 16,387

37 # M =4 7 4 21 55 0 0 0 87

38 FE O M o | R 26 91 160 469 377 0 0 1,123

7 il 729 2,854 4,354 22,556 11,503 7,667 12,764 62,427

1R i ko4 0 0 154 1,547 67 191 349 2,308

2 i i # 0 0 0 0 1 0 0 1

3 OFEMRDY R R E 0 0 0 23 0 0 23

. S 4 =4 6 4 66 5 22 1 33 137
- 5 % # ko4 0 0 0 0 0 0 0 0
6 B #F F P B 0 0 0 0 14 0 0 14

" 7 s ko4 0 0 0 0 0 0 0 0
8 AA=TT TR () 0 0 0 0 0 0 0 0

5 9 AA=TT v EE (F) 0 0 0 41 13 0 0 54
% o f =] ) 77 211 400 1,478 660 392 651 3,869
nooBg M B 202 690 1,087 5,350 2,490 1,653 2,362 13,834

7 il 285 905 1,707 8,421 3,290 2,237 3,395 20,240

— f E A R % 134 474 684 3,138 1,362 1,321 1,172 8,285

B = 0 0 0 -57 34 5,854 7 5,838

a ot 1,148 4,233 6,745 34,058 16,189 17,079 17,338 96,790
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K—IM—4—-1 RKIFERARAEHBR (£ER)
13. KEEIBFX WEDH (g 7 )
1 % # 212 997 0 0 95 0 0 1,304
2 Mok i & 0 2 0 0 0 0 0 2
3 # # 0 0 0 0 0 0 0 0
4 # * 0 0 0 0 0 0 0 0
5 HE 0 o MOAN M 0 0 0 0 0 0 0 0
6 A 1 0 0 0 0 0 0 0 0
7% O fh o Kk & 0 0 0 0 0 0 0 0
8 Wh-HbFl - A M- L 9 132 0 0 0 0 0 141
9 & A v b 28 3 0 0 11 0 0 42
0 4 = v 2z U — 0 34 0 0 12 0 0 46
1n = vz — b8 0 26 0 0 0 0 0 26
12 A it 0 0 0 0 0 0 0 0
13 #M W)L M 0 9 0 0 408 0 0 417
14 WA O o & A 0 0 0 0 0 0 0 0
A 15 #H i (T4 RAE ) 0 0 0 0 0 0 0 0
16 & @& o o& m o & 0 15 0 0 32 0 0 47
17 #k it 0 0 0 0 0 0 0 0
18 % -7} i 0 11 0 0 0 0 0 11
H 19 7 2 7 5 Ak 11 224 0 0 0 0 0 235
20 i ) i 21 55 0 0 28 0 0 104
w| 2 IS £ 0 0 0 0 165 0 0 165
22 ¥ A ko H 0 0 0 0 0 0 0 0
23 75 A F v oy R 0 56 0 0 0 0 0 56
Bl 24 = pA ) i 0 0 0 0 0 0 0 0
25 i AR o= 7 0 8 0 0 0 0 0 8
26 W& i s v 20 323 0 0 0 0 0 343
27k s i i 10 0 0 0 131 0 0 141
28 O L oA " & 0 36 0 0 0 0 0 36
29 % o f oo B H 8 55 0 0 11 0 0 74
30 8 kOB & B O 0 -1 0 0 0 0 0 -1
31 G M B £ 5 00 3 17 0 0 0 0 0 20
32 by B Al 63 800 0 0 0 0 0 863
33 M @ A M 0 0 0 0 0 0 0 0
34 - kG - TR % 0 0 0 0 0 0 0 0
3% Y - A pits 1 49 0 0 7 0 0 57
36 2 70 113 0 0 376 0 0 559
37 # M k<d 0 0 0 0 0 0 0 0
38 FE O M o | R 212 129 0 0 2 0 0 343
7 H 668 3,093 0 0 1,278 0 0 5,039
1R i ko4 0 44 0 0 9 0 0 53
2 i i # 0 52 0 0 1 0 0 53
3 EM KPR E R E 0 0 0 0 0 0 0 0
. S 4 =4 0 166 0 0 3 0 0 169
- 5 & # # 0 2 0 0 0 0 0 2
6 B #F F P B 0 0 0 0 2 0 0 2
" 7 s #H 0 0 0 0 0 0 0 0
8 AA=TT TR () 0 0 0 0 0 0 0 0
# 9 AA=TT T RE (R) 16 0 0 0 22 0 0 38
o % o f = ) 21 325 0 0 79 0 0 425
1mooBL B w B 112 1,033 0 0 259 0 0 1,404
7 il 149 1,622 0 0 375 0 0 2,146
— i A B A 83 593 0 0 121 0 0 797
P < 0 0 0 0 0 0 0 0
a w 900 5,308 0 0 1,774 0 0 7,982
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13. KEEIBEX &t (i 7 )

1 # % # 5,075 16,199 7,995 12,343 2,596 336 1,240 45,784

2 MoKk i A 12 12 0 0 0 0 0 24

3 # # 0 3 0 6 0 0 0 9

4 B %) 10 35 0 1 1 19 0 66

5 HE 0 o MOAN M 0 0 0 0 0 0 0 0

6 A 1 0 0 0 15 0 0 0 15

T O oo A RS 0 0 0 0 0 0 0 0

8 b eMb Rl Mt 1,054 4,096 3,301 3,049 587 1 4,306 16,394

9 # b K 184 28 0 3 1,019 0 6 1,240

10 & = ¥ 7 U — h 1,852 4,780 6,447 10,865 179 1,431 0 25,554

n = v 7y — K & 965 4,150 0 4,132 71 1 5 9,324

12 it 0 0 0 0 1,176 2 0 1,178

13 #M W)L M 15 96 501 37,785 553 860 0 39,810

4 WM T & MM 0 11 0 156 637 0 0 804

A 15 S Em LR IEY) 0 1,619 0 457 116 62 0 2,254
16 & & B & B ® W 130 1,011 600 105 761 83 0 2,690

17 #k it 0 0 0 0 0 0 0 0

18 #h fi3 -0} i 4 87 0 47 0 0 0 138

Bl 19 7 2 7 » o b 885 4,476 5,223 222 73 4 15 10,898
20 47 il L0 i 598 1,922 2,464 692 556 49 286 6,567

" 21 B fot 0 0 0 0 401 4 0 405
20 ¥ ) ok W OHE 0 0 0 0 0 0 0 0

23 77 AT v o WY 131 326 4 625 299 0 0 1,385

wl 24 = A 1l o 25 3 0 0 34 18 0 80
25 g R o= 7 0 8 0 188 0 0 0 196

26 W& i s w 43 323 0 0 0 0 0 366

27 Ak bg L0 i 10 0 0 5 647 0 0 662

28 ® ¥ - £ o W5 0 36 0 0 0 0 0 36

29 % o i oo ' M 197 1,033 173 1,950 1,763 0 407 5,523

30 # - I B & B E 0 -4 -1 0 -4 -2 0 -11

3 WM B E A5 00 197 1,723 569 712 365 38 357 3,961

32 i % B i 6,051 8,901 2,837 2,723 1,075 3,153 52 24,792

33 M @ A M 0 0 0 0 13 0 0 13

RESS ol < N T ML N 0 0 0 0 11 0 0 11

3% Y — A fot 465 2,136 2,581 9,509 245 145 2,343 17,424

36 B 1,319 3,125 2,202 8,158 4,119 2,341 5,207 26,471

37 # M =4 12 81 21 55 0 0 0 169

38 FE O M o | R 600 1,712 1,842 469 408 0 3 5,034

7 ik 19,834 57,928 36,759 94,272 17,701 8,545 14,227 249,266

1R i ko4 125 1,226 274 1,834 234 213 349 4,255

2 i i # 4 58 0 0 10 0 1 73

B 3 OFEMRDY R R E 0 0 0 0 28 0 0 28
S 4 =4 354 1,132 482 81 35 1 40 2,125

i 5 & # ko4 1 17 0 0 0 0 0 18
6 W " P B 125 0 0 0 52 0 0 177

i 7 s ko4 0 0 0 0 0 0 0 0
8 AA=TT TR () 0 0 0 0 0 0 0 0

1 9 ARXA—TT w7 RECF) 16 0 211 600 66 3 0 896
% o f =] ) 2,590 7,052 4,000 6,032 1,041 442 782 21,939

o oH:ooEm " M % 7,698 20,169 10,766 19,491 3,708 1,823 2,736 66,391

/s s 10,913 29,654 15,733 28,038 5,174 2,482 3,908 95,902

o - 4,326 11,087 5,968 12,187 2,068 1,415 1,321 38,372

% £ it B 0 0 0 -57 116 5,896 7 5,962

& il 35,073 98,669 58,460 134,440 25,059 18,338 19,463 389,502
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WEEt (LAY (75 D)

1 # % # 31,644 141,139 88,450 197,906 35,388 15,472 23,891 533,890

2 MoKk i - 2 742 2,592 706 6,072 4 4 0 10,120

3 # 7] 44 326 4 49 31 4 0 458

4 H 2 133 126 139 1,413 77 21 1 1,910

5 HE 0 o MOAN M 123 157 8 2 0 0 0 290

6 A i 18 89 69 870 38 1 0 1,085

T o foo A RO 107 1,044 131 448 33 0 0 1,763

8 b eab Rl ML 4,807 29,098 21,031 44,548 4,058 2,071 4,907 110,520

9 # b k 315 2,250 2,771 12,839 2,631 1,785 1,727 24,318

0 & = ¥ 7 ) — | 6,202 36,072 26,396 64,123 10,615 6,851 4,471 154,730

1n = vz — b8 6,970 43,868 29,991 39,696 7,229 714 18,101 146,569

12 it 195 2,204 810 13,388 1,883 337 3,161 21,978

13 #M W)L M 223 8,768 9,252 60,188 7,697 4,174 18,444 108,746

14 WA O o & A 277 1,474 6,758 2,196 11,585 347 1,060 23,697

A 15 S Em LR IEY) 1,851 6,599 6,183 42,613 2,196 35,959 12,455 107,856
16 & & B 4 B %0 5,485 25,607 12,350 20,996 4,434 773 2,430 72,075

17 #k # 145 273 630 3,326 69 241 190 4,874

18 #h fi3 -0} i 1,656 4,780 1,893 2,913 786 91 27 12,146

Bl 19 7 =% 7 5 o | 16,614 76,456 49,728 48,775 441 147 62 192,223
20 A il -0} o 3,374 14,465 12,119 29,382 3,587 2,178 955 66,060

" 21 B fot 170 2,105 860 2,749 452 7 1,795 8,138
22 jE ¥ ) ok W O 0 5 0 938 272 346 65 1,626

23 77 AT v o WY 1,611 15,765 6,606 21,998 3,151 657 1,166 50,954

| 24 = 2 # i 450 2,375 8,657 7,684 16,263 833 7,473 43,735
25 i AR o= 7 147 744 735 2,143 19 25 66 3,879

26 W& i s o 5,548 20,625 14,126 61,345 1,845 842 15 104,346

27 Ak kg d i 173 2,415 2,537 7,896 2,235 179 1,018 16,453

28 ® ¥ - £ o W5 117 874 1,768 8,465 94 40 312 11,670

29 % o i oo B\ M 4,851 10,699 8,319 61,265 3,451 7,093 471 96,149

30 # - I B & B E -126 -230 -286 -720 -47 -51 -365 -1,825

3 WM B ¥ 5 0 1,246 8,745 6,474 21,309 3,529 1,480 8,576 51,359

32 i % B i 32,817 87,576 29,984 77,013 6,292 5,956 5,060 244,498

33 HF U I 53 28 62 147 122 15 20 447

34 O A - kol -l ) R 0 145 13 141 136 125 263 823

3% Y — A pits 2,423 14,242 14,037 28,267 4,640 2,110 9,617 75,336

36 g 9,099 43,519 38,331 125,170 36,846 25,845 16,348 295,158

37 # M =4 853 4,299 1,222 2,221 98 186 227 9,106

38 FE O M o | R 4,007 16,500 13,348 20,118 4,013 798 4,732 63,516

7 ik 144,364 627,818 416,212 1,039,892 176,193 117,656 148,741 2,670,876

1R i ko4 1,361 5,242 6,747 13,805 2,518 1,012 1,580 32,265

2 i i # 985 3,494 1,928 3,514 161 128 44 10,254

B 3 EM KPR E R E 179 1,080 751 3,232 690 161 248 6,341
4 % 4 # 4,426 16,680 9,876 18,576 1,020 461 1,046 52,085

i 5 & # ko4 59 278 63 626 186 199 1,066 2,477
6 B #F F P B 1,134 2,317 2,790 5,063 630 267 301 12,502

i (1 i #H 15 179 45 277 14 20 15 565
8 AA=VT TR () 0 87 4 6 15 2 87 201

1 9 ARA=TT T ERE(CR) 258 1,649 1,954 8,279 849 300 150 13,439
o % o f = ) 19,644 75,550 41,312 86,865 11,667 6,072 6,001 247,111

o oH:ooEm " M % 55,371 212,003 124,088 249,693 36,280 21,530 26,857 725,822

/s s 83,432 318,559 189,558 389,936 54,030 30,152 37,395 1,103,062

o - 31,026 115,664 68,047 136,327 19,236 12,377 13,340 396,017

¥ 95 & it B 30 77 397 832 581 5,996 855 9,468

& il 258,852 1,062,818 674,214 1,566,987 250,040 166,181 200,331 4,179,423
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